
Multiplier des fractions mixtes négatives (A)

Nom: Date: Note:

Calculez chaque produit.

1. (−146) × 323 =

2. (−245) × (−125) =

3.
2
5 × (−115) =

4. (−212) × 312 =

5. (−523) ×
1
2 =

6. (−124) × 545 =

7.
5
6 × (−114) =

8. (−112) × (−414) =

9.
1
3 × (−126) =

10. (−323) × 123 =
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Multiplier des fractions mixtes négatives (A) Réponses

Nom: Date: Note:

Calculez chaque produit.

1. (−146) × 323 = (−106 ) ×
11
3 = (−11018 ) = (−559 ) = (−619)

2. (−245) × (−125) = (−145 ) × (−75) = 98
25 = 32325

3. 2
5 × (−115) = 2

5 × (−65) = (−1225)

4. (−212) × 312 = (−52) ×
7
2 = (−354 ) = (−834)

5. (−523) ×
1
2 = (−173 ) ×

1
2 = (−176 ) = (−256)

6. (−124) × 545 = (−64) ×
29
5 = (−17420 ) = (−8710) = (−8 710)

7. 5
6 × (−114) = 5

6 × (−54) = (−2524) = (−1 124)

8. (−112) × (−414) = (−32) × (−174 ) = 51
8 = 638

9. 1
3 × (−126) = 1

3 × (−86) = (− 8
18) = (−49)

10. (−323) × 123 = (−113 ) ×
5
3 = (−559 ) = (−619)
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